Dell Latitude 3301
Service Manual

egulatory Model: P114G

egulatory Type: P114G001




Notes, cautions, and warnings

(D | NOTE: A NOTE indicates important information that helps you make better use of your product.

A CAUTION indicates either potential damage to hardware or loss of data and tells you how to avoid the
problem.

A| WARNING: A WARNING indicates a potential for property damage, personal injury, or death.

© 2018 - 2019 Dell Inc. or its subsidiaries. All rights reserved. Dell, EMC, and other trademarks are trademarks of Dell Inc. or its
subsidiaries. Other trademarks may be trademarks of their respective owners.

2020 - 01

Rev. AOO



Contents

TWOrking ON YOUI COMPUTET......cucuieieiieierererre s re s e s e e mare e s s rms s s asrarms s nmnra s ms s nmnnnnmnnnnnss 5
R 1= RV (0151 (U o {0 TR 5
Turning off your cOmMPULEr — WINAOWS T0......ciieieiiireeiee ettt ee st ee ettt eeenens 5
Before working iNSide YOUI COMPUEET ..........cuiiiiiciirisiei ettt bbbtk 6
ATter WOrking iNSIAE YOUI COMIPUTET ......eveiiieiiiiereetete ettt sttt sttt te st tesbese s e seese e eseseesesaesesseseebeseebe s esessesessesesaenensesenns 6

2 Technology and COMPONENES. ..cuuieieieieiiirr e rara s rararasasasasasssssssssrsrasasasasasasnsnssssssarasasasnsnsas 7
I DD OSSR 7
HDMI 1.4= HDIMI 2.0, ettt ettt b et s e et b e e bt e et et s e et et ere e b enene e s enene e e 7
USB FEATUMES. ...ttt bbbt b bt e b b £ bbb bbb bbbt b bt bbbt 8
INTEI OPTANE MEBIMOIY .....iitiitetiitieiete ettt ettt ettt st te st s et e s et e st ebe st ese s b e s e et e s e b e s s ebe st ese s b es e et e s et e b ebe st eseebese et e s ebe b etesbenenreneane 10

ENabliNg INtEl OPtaNE MEMOIY......cvcviiiiciie ittt b et 10
Disabling INTEl OPTANE MEIMOTY......cuiiiiietiieteriete ettt sttt sa et e te st e sesb e e e se e esesaesesbesesbeseese s esesbesessesesseseasesenes 10

3 Major components Of YOUr SYSteM.....uiuieieieieieieiiirarrererrerarasssnsss s s s rrasasasasassssssssarasasasasnsnsnsnsnnnns 1"

4 Removing and installing COMPONENtS.....ccccciiiiiiiiererercrrriir s s s s s s s s s s sasasnsnsnnsnsnsasarass 14
RECOMIMENUEA TOOIS. ... evveiieiieiieieieie ettt e et e et et e s e st e s et e st e st e st e st e st e st e st e st e s b e st et e st et e s et e e e stesseseeseen 4
Lo ATV 1 RS PRPRPRPRN 4
DT TSl o VA= L e Y= Xt a] o] | T 15

T TSI 10 )V BRSSP 19
= L (T Y2 17
(OFo [ rot=Y |l o= N (=T Y ARSI 19
SONA-STATE MV, ittt ettt ettt ettt b et ettt et te et as e b et et e st et e e b ese et e s s et e s et e et ebe e b es e e b e ssebe b ete et ese et eneebe e benns 21
(ST L] PSPPSR 24
= O OO ST T U SO T TP ST OT OSSP PP P TP T PTPTUOPEPPTOTOPPTPTN 25
SIDEAKETS ...ttt ettt ettt ettt b1t bttt b et et e b oAb et et et et e et A e b oAt oA e At b e bt e et eR s b ensebe st et et eteereteebessebe s te b erenrens 27
LT N T o PSPPI 29
WWWVAN CBIA. .t b bbb bbb bbb bbbt bbb bbbttt b ettt 31
TOUCKIPA. ...ttt ettt ettt et bbb st e s et et et e s 4 e ke s b ese et e s s et e b ebe b ebe b e st eb e st et et ebe st ese st ens et e s ebeseerestenea 32
P OWET =@UAPTET PO ...ttt bbb bbb bbb bbb bbbt 34
DS 0] VA= TS =T 0] o RSSO 36
[/Q 0BG, ...ttt ettt a e bttt b b bbb e bR b et b e b ek e beRe b oA e b et b et be st ete et eae et et et et erenrens 40
oIV T o TU (o a T oo =] o IR PP 42
Power button With fINGEIPIINT FEAUET........civ ittt bbb ettt sbene s e ene s 44
YY1 =T n all 0 0T ] o TR TR 45
DISPIAY DEZEL..... et bbbt b bbbt nas 48
D] 0] 1V 0 = T USRS 49
DiSPIAY NINGES. ..ttt etttk bt b et h ke st E etk e e b e e e e bt e b e Rt e b e n e bt e E e et e b e et e Rt b e st e ket et e e eneenens 93
CBIMETA. 1.t bbb b bbb b h bR h R bbbt 55
DiISPIAY DACK=COVET ... c.eetiiieiistetctee ettt ettt sttt et et et e e e e s e e s e st e be st et et s et et e eaes e e be st e be s etentetensenesneneaseneas 57
DISPIAY CADIE.... ettt ettt ettt ettt b et b bbb ae b a e bbb b ebe b Re b eae et et be b ebe et ere et e et srens 58
Palm-rest and KeYDoard GSSEMDIY........iiiii ittt e et re e e e re e e ann 60

Contents 3



LT I o T L= Voo 4T 63

Enhanced Pre-Boot System Assessment (EPSA) diagNOSTICS......cviviiiieriiiieice e 63
RUNNING The EPSA GIagNOSTICS. .. .ueutiviiiiiiiei ettt s bbb e st et et e ae s be st e te s e tessesesaens 63
SYSTEM AIAGNOSTIC NS 1.ttt ettt ettt et et b et e ettt E s et s e e b e R et et eeere e st et ere et eaene et enanas 63
FIAShiNg BIOS (USB KEY ).ttt bbbttt bbbt 64
FIAShING TNE BIOS......o oottt bbbt bbb et s et b e b b e b e b e s e eb e s et et et et ese b esenn e e 64
Backup media and FECOVETY OPTIONS.......iiiiiiieiisiese st ste et te e ste e steetesteeseeteeseaseeseaseaseaseasaaseaseaseaseasaeseassesaasaaneaseasaasens 65
WVIFT POWET CYCIB.. .ttt b bbb bbb bbb bbbt b bt 65
FIEA POWET TBIBASE. ...ttt bbb bbb bbb bbbttt bbbt bk s bbbttt b bt 65

LS T T T TN = [ 66
(@ To a1 = Toyu] T TN I Y| SO 66

Contents



Working on your computer

Safety instructions

Use the following safety guidelines to protect your computer from potential damage and to ensure your personal safety. Unless otherwise
noted, each procedure included in this document assumes that the following conditions exist:

You have read the safety information that shipped with your computer.
A component can be replaced or, if purchased separately, installed by performing the removal procedure in reverse order.

NOTE: Disconnect all power sources before opening the computer cover or panels. After you finish working inside the
computer, replace all covers, panels, and screws before connecting to the power source.

®
A

WARNING: Before working inside your computer, read the safety information that shipped with your computer. For
additional safety best practices information, see the Regulatory Compliance Homepage

Many repairs may only be done by a certified service technician. You should only perform troubleshooting and
simple repairs as authorized in your product documentation, or as directed by the online or telephone service and
support team. Damage due to servicing that is not authorized by Dell is not covered by your warranty. Read and follow
the safety instructions that came with the product.

To avoid electrostatic discharge, ground yourself by using a wrist grounding strap or by periodically touching
an unpainted metal surface at the same time as touching a connector on the back of the computer.

Handle components and cards with care. Do not touch the components or contacts on a card. Hold a card by
its edges or by its metal mounting bracket. Hold a component such as a processor by its edges, not by its pins.

When you disconnect a cable, pull on its connector or on its pull-tab, not on the cable itself. Some cables
have connectors with locking tabs; if you are disconnecting this type of cable, press in on the locking tabs before you
disconnect the cable. As you pull connectors apart, keep them evenly aligned to avoid bending any connector pins. Also,
before you connect a cable, ensure that both connectors are correctly oriented and aligned.

@ | NOTE: The color of your computer and certain components may appear differently than shown in this document.

System will shut down if side covers are removed while the system is running. The system will not power on
if the side cover is removed.

System will shut down if side covers are removed while the system is running. The system will not power on
if the side cover is removed.

System will shut down if side covers are removed while the system is running. The system will not power on
if the side cover is removed.

Turning off your computer — Windows 10

To avoid losing data, save and close all open files and exit all open programs before you turn off your
computer or remove the side cover.

1. Click or tap H

I
2. Click or tap O and then click or tap Shut down.

@ NOTE: Ensure that the computer and all attached devices are turned off. If your computer and attached devices did
not automatically turn off when you shut down your operating system, press and hold the power button for about 6
seconds to turn them off.

Working on your computer 5


https://www.dell.com/learn/us/en/uscorp1/regulatory-compliance

Before working inside your computer

@ | NOTE: The images in this document may differ from your computer depending on the configuration you ordered.

After working inside your computer

Leaving stray or loose screws inside your computer may severely damage your computer.

Replace all screws and ensure that no stray screws remain inside your computer.

Connect any external devices, peripherals, or cables you removed before working on your computer.
Replace any media cards, discs, or any other parts that you removed before working on your computer.
Connect your computer and all attached devices to their electrical outlets.

Turn on your computer.

SN O

6 Working on your computer



Technology and components

NOTE: Instructions provided in this section are applicable on computers shipped with Windows 10 operating system.
Windows 10 is factory-installed with this computer.

Topics:

LPDDR3

HDMI 1.4- HDMI 2.0
USB features

Intel Optane memory

LPDDR3

LPDDR3 (double data rate third generation low voltage) memory is a higher-speed successor to the DDR2 and DDR3 technologies and
allows up to 512 GB in capacity, compared to the DDR3's maximum of 128 GB per DIMM.

LLPDDR3 needs 20 percent less or just 1.35 volts, compared to DDR3 which requires 1.5 volts of electrical power to operate. LPDDR3 also
supports a new, deep power-down mode that allows the host device to go into standby without needing to refresh its memory. Deep
power-down mode is expected to reduce standby power consumption by 40 to 50 percent.

Memory Errors

Memory errors on the system display the new ON-FLASH-FLASH or ON-FLASH-ON failure code. If all memory fails, the LCD does not
turn on. Troubleshoot for possible memory failure by trying known good memory modules in the memory connectors on the bottom of the
system or under the keyboard, as in some portable systems.

@ | NOTE: The LPDDR3 memory is imbedded in board and not a replaceable DIMM as shown and referred.

HDMI 1.4- HDMI 2.0

This topic explains the HDMI 1.4/2.0 and its features along with the advantages.

HDMI (High-Definition Multimedia Interface) is an industry-supported, uncompressed, all-digital audio/video interface. HDMI provides an
interface between any compatible digital audio/video source, such as a DVD player, or A/V receiver and a compatible digital audio and/or
video monitor, such as a digital TV (DTV). The intended applications for HDMI TVs, and DVD players. The primary advantage is cable
reduction and content protection provisions. HDMI supports standard, enhanced, or high-definition video, plus multichannel digital audio
on a single cable.

(D | NOTE: The HDMI 1.4 will provide 5.1 channel audio support.

HDMI 1.4- HDMI 2.0 Features

HDMI Ethernet Channel - Adds high-speed networking to an HDMI link, allowing users to take full advantage of their IP-enabled
devices without a separate Ethernet cable

Audio Return Channel - Allows an HDMI-connected TV with a built-in tuner to send audio data "upstream" to a surround audio
system, eliminating the need for a separate audio cable

3D - Defines input/output protocols for major 3D video formats, paving the way for true 3D gaming and 3D home theater applications
Content Type - Real-time signaling of content types between display and source devices, enabling a TV to optimize picture settings
based on content type

Additional Color Spaces - Adds support for additional color models used in digital photography and computer graphics

4K Support - Enables video resolutions far beyond 1080p, supporting next-generation displays that will rival the Digital Cinema
systems used in many commercial movie theaters

Technology and components 7



HDMI Micro Connector - A new, smaller connector for phones and other portable devices, supporting video resolutions up to 1080p

Automotive Connection System - New cables and connectors for automotive video systems, designed to meet the unique
demands of the motoring environment while delivering true HD quality

Advantages of HDMI

Quality HDMI transfers uncompressed digital audio and video for the highest, crispest image quality.

Low -cost HDMI provides the quality and functionality of a digital interface while also supporting uncompressed video formats in a
simple, cost-effective manner

Audio HDMI supports multiple audio formats from standard stereo to multichannel surround sound

HDMI combines video and multichannel audio into a single cable, eliminating the cost, complexity, and confusion of multiple cables
currently used in A/V systems

HDMI supports communication between the video source (such as a DVD player) and the DTV, enabling new functionality

USB features

Universal Serial Bus, or USB, was introduced in 1996. It dramatically simplified the connection between host computers and peripheral
devices like mice, keyboards, external drivers, and printers.

Let's take a quick look on the USB evolution referencing to the table below.

Table 1. USB evolution

Type Data Transfer Rate Category Introduction Year
USB 2.0 480 Mbps High Speed 2000
USB 3.0/USB 3.1 Gen 1 | 5 Gbps Super Speed 2010
USB 3.1Gen 2 10 Gbps Super Speed 2013

USB 3.0/USB 3.1 Gen 1 (SuperSpeed USB)

For years, the USB 2.0 has been firmly entrenched as the de facto interface standard in the PC world with about 6 billion devices sold, and
yet the need for more speed grows by ever faster computing hardware and ever greater bandwidth demands. The USB 3.0/USB 3.1 Gen 1
finally has the answer to the consumers' demands with a theoretically 10 times faster than its predecessor. In a nutshell, USB 3.1 Gen 1
features are as follows:

Higher transfer rates (up to 5 Gbps)

Increased maximum bus power and increased device current draw to better accommodate power-hungry devices
New power management features

Full-duplex data transfers and support for new transfer types

Backward USB 2.0 compatibility

New connectors and cable

The topics below cover some of the most commonly asked questions regarding USB 3.0/USB 3.1 Gen 1.

SUPERSPEED
S uUsE>
e

Speed

Currently, there are 3 speed modes defined by the latest USB 3.0/USB 3.1 Gen 1 specification. They are Super-Speed, Hi-Speed and Full-
Speed. The new SuperSpeed mode has a transfer rate of 4.8Gbps. While the specification retains Hi-Speed, and Full-Speed USB mode,
commonly known as USB 2.0 and 1.1 respectively, the slower modes still operate at 480Mbps and 12Mbps respectively and are kept to
maintain backward compatibility.

USB 3.0/USB 3.1 Gen 1 achieves the much higher performance by the technical changes below:
An additional physical bus that is added in parallel with the existing USB 2.0 bus (refer to the picture below).

8 Technology and components



USB 2.0 previously had four wires (power, ground, and a pair for differential data); USB 3.0/USB 3.1 Gen 1 adds four more for two
pairs of differential signals (receive and transmit) for a combined total of eight connections in the connectors and cabling.

USB 3.0/USB 3.1 Gen 1 utilizes the bidirectional data interface, rather than USB 2.0's half-duplex arrangement. This gives a 10-fold
increase in theoretical bandwidth.

Gnd USB3 contacts

High speed USB2 contacts
differential pair

With today's ever increasing demands placed on data transfers with high-definition video content, terabyte storage devices, high
megapixel count digital cameras etc., USB 2.0 may not be fast enough. Furthermore, no USB 2.0 connection could ever come close to the
480Mbps theoretical maximum throughput, making data transfer at around 320Mbps (40MB/s) — the actual real-world maximum.
Similarly, USB 3.0/USB 3.1 Gen 1 connections will never achieve 4.8Gbps. We will likely see a real-world maximum rate of 400MB/s with
overheads. At this speed, USB 3.0/USB 3.1 Gen 1is a 10x improvement over USB 2.0.

Applications

USB 3.0/USB 3.1 Gen 1 opens up the laneways and provides more headroom for devices to deliver a better overall experience. Where USB
video was barely tolerable previously (both from a maximum resolution, latency, and video compression perspective), it's easy to imagine
that with 5-10 times the bandwidth available, USB video solutions should work that much better. Single-link DVI requires almost 2Gbps
throughput. Where 480Mbps was limiting, 5Gbps is more than promising. With its promised 4.8Gbps speed, the standard will find its way
into some products that previously weren't USB territory, like external RAID storage systems.

Listed below are some of the available SuperSpeed USB 3.0/USB 3.1 Gen 1 products:

External Desktop USB 3.0/USB 3.1 Gen 1 Hard Drives
Portable USB 3.0/USB 3.1 Gen 1 Hard Drives

USB 3.0/USB 3.1 Gen 1 Drive Docks & Adapters

USB 3.0/USB 3.1 Gen 1 Flash Drives & Readers

USB 3.0/USB 3.1 Gen 1 Solid-state Drives

USB 3.0/USB 3.1 Gen 1 RAIDs

Optical Media Drives

Multimedia Devices

Networking

USB 3.0/USB 3.1 Gen 1 Adapter Cards & Hubs

Compatibility

The good news is that USB 3.0/USB 3.1 Gen 1 has been carefully planned from the start to peacefully co-exist with USB 2.0. First of all,
while USB 3.0/USB 3.1 Gen 1 specifies new physical connections and thus new cables to take advantage of the higher speed capability of
the new protocol, the connector itself remains the same rectangular shape with the four USB 2.0 contacts in the exact same location as
before. Five new connections to carry receive and transmitted data independently are present on USB 3.0/USB 3.1 Gen 1 cables and only
come into contact when connected to a proper SuperSpeed USB connection.

Windows 10 will be bringing native support for USB 3.1 Gen 1 controllers. This is in contrast to previous versions of Windows, which
continue to require separate drivers for USB 3.0/USB 3.1 Gen 1 controllers.

Technology and components 9



Intel Optane memory

Intel Optane memory functions only as a storage accelerator. It neither replaces nor adds to the memory (RAM) installed on your
computer.

@ NOTE: Intel Optane memory is supported on computers that meet the following requirements:

+ 7th Generation or higher Intel Core i3/i5/i7 processor
+ Windows 10 64-bit version 1607 or higher
« Intel Rapid Storage Technology driver version 15.9.1.1018 or higher

Table 2. Intel Optane memory specifications

Feature Specifications

Interface PCle 3x2 NVMe 1.1

Connector M.2 card slot (2230/2280)

Configurations supported - 7th Generation or higher Intel Core i3/i5/i7 processor

Windows 10 64-bit version 1607 or higher
Intel Rapid Storage Technology driver version 15.9.1.1018 or
higher

Capacity 16 GB

Enabling Intel Optane memory

On the taskbar, click the search box, and type "Intel Rapid Storage Technology".

Click Intel Rapid Storage Technology.

On the Status tab, click Enable to enable the Intel Optane memory.

On the warning screen, select a compatible fast drive, and then click Yes to continue enabling Intel Optane memory.

SN NECE

Click Intel Optane memory > Reboot to enable the Intel Optane memory.

NOTE: Applications may take up to three subsequent launches after enablement to see the full performance
benefits.

Disabling Intel Optane memory

After disabling Intel Optane memory, do not uninstall the driver for Intel Rapid Storage Technology as it will
result in a blue screen error. The Intel Rapid Storage Technology user interface can be removed without uninstalling the
driver.

@ NOTE: Disabling Intel Optane memory is required before removing the SATA storage device, accelerated by the Intel
Optane memory module, from the computer.

On the taskbar, click the search box, and then type "Intel Rapid Storage Technology".
Click Intel Rapid Storage Technology. The Intel Rapid Storage Technology window is displayed.
On the Intel Optane memory tab, click Disable to disable the Intel Optane memory.

NN

Click Yes if you accept the warning.
The disabling progress is displayed.

B. Click Reboot to complete disabling Intel Optane memory and restart your computer.

10 Technology and components



Major components of your system 1"



Major components of your system

2
3
15 1
14 S
6
13
7
8
12 9

1"

Major components of your system



©ENDOA NN

-~ 2 A a2
NOWDN—=O

Base cover
Power-adapter port
Solid-state drive
WLAN card

System board
Coin-cell battery
Battery

Speakers
Touchpad

. Touchpad buttons

Display assembly

. Palmrest assembly
. 170 board

. Fan

15.

Heatsink

@ NOTE: Dell provides a list of components and their part numbers for the original system configuration purchased. These
parts are available according to warranty coverages purchased by the customer. Contact your Dell sales representative

for purchase options.

Major components of your system

13



Removing and installing components

Recommended tools

The procedures in this document require the following tools:

Phillips #0 screwdriver
Phillips #1 screwdriver
Philips #2 screwdriver
Plastic scribe

T-30 torx screwdriver

(D | NOTE: The #0 screw driver is for screws 0-1and the #1 screw driver is for screws 2-4

Screw list

@ NOTE: When removing screws from a component, it is recommended to note the screw type, the quantity of screws,

is restored when the component is replaced.

and then place them in a screw storage box. This is to ensure that the correct number of screws and correct screw type

@ NOTE: Some computers have magnetic surfaces. Ensure that the screws are not left attached to such surface when

replacing a component.

® NOTE: Screw color may vary with the configuration ordered.

Table 3. Screw list

assembly.

14 Removing and installing components

Component Secured to Screw type Quantity Screw image
Palm rest and keyboard M2x6 4 NOTE: Screw color
Base cover X
assembly Captive screws 3 ® may vary depending
on the configuration
ordered.
Palm rest and keyboard
Batt M2x3 4
attery assembly X ’
Pal t and keyboard
Battery aim rest anc keyhoare  mr.exa 1 ?
assembly
Fan Palm rest and keyboard M2x3 2 ?
assembly
WLAN Card WLAN Card bracket M2x2.5 1 @
WWAN Card WWAN Card bracket M2x2.5 1 @
Palm-rest keyboard
Touchpad v M1.6x2 5 ’



State Drive

Heat sink

Hinges

Hinge brackets

Hinge brackets

170 board

170 board

USB Type-C port
bracket

Power-adapter port

Power-button board
Power button with
fingerprint reader

(optional)

System board

Wireless-card bracket

assembly

System board

Palm rest and keyboard
assembly

Display back-cover and
antenna assembly

Display back-cover and
antenna assembly

Palm rest and keyboard
assembly

Palm rest and keyboard
assembly

System board

Palm rest and keyboard
assembly

Palm rest and keyboard

assembly

Palm rest and keyboard
assembly

Palm rest and keyboard
assembly

System board

Captive screws

M2.5x3.5

M2.5x3.5

M2x2

M2.5x3.5

M2x3

M2.5x3.5

M2x3

M2x2

M2x2

M2x4

M2x3

Disassembly and reassembly

Base cover

Removing the base cover

1.

Follow the procedure in Before working inside your computer.

Component Secured to Screw type Quantity Screw image
M.2 2230/2280 Solid Palm rest and keyboard o
: " yRoare: Max2.s 1 ©

9% O 00 QDDDO D af

The following image indicates the location of the base cover and provides a visual representation of the removal procedure.

Removing and installing components

15



4x
M2x6

H

N N

|

p@
Hlllﬂllh@

111

©

©)

\

ARRRARARARAAAARAAOAAI

Loosen the three captive screws on the base cover.

Remove the four screws (M2x6) that secure the base cover to the palm-rest and keyboard assembly.
Pry the base cover starting from the top-left corner of the palm-rest and keyboard assembly.

Lift the base cover off the palm-rest and keyboard assembly.

Installing the base cover

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of the base cover and provides a visual representation of the installation procedure.

16

Removing and installing components



N N

—

4x
M2x6

|

@
IHHUHQD

111

©

RO

Place the computer with the hinges facing towards you.

Align the base cover on the palm-rest and keyboard assembly, and snap the base cover into place.
Replace the four screws (M2x6) that secure the base cover to the palm-rest and keyboard assembly.
Tighten the three captive screws that secure the base cover to the palm-rest and keyboard assembly.

Follow the procedure in After working inside your computer.

Battery

Lithium-ion battery precautions

+ Exercise caution when handling Lithium-ion batteries.

+ Discharge the battery as much as possible before removing it from the system. This can be done by disconnecting
the AC adapter from the system to allow the battery to drain.

+ Do not crush, drop, mutilate, or penetrate the battery with foreign objects.

+ Do not expose the battery to high temperatures, or disassemble battery packs and cells.
+ Do not apply pressure to the surface of the battery.

+ Do not bend the battery.

+ Do not use tools of any kind to pry on or against the battery.

+ Ensure any screws during the servicing of this product are not lost or misplaced, to prevent accidental puncture or
damage to the battery and other system components.

Removing and installing components

17



« If a battery gets stuck in a device as a result of swelling, do not try to free it as puncturing, bending, or crushing a
Lithium-ion battery can be dangerous. In such an instance, contact for assistance and further instructions.

« If the battery gets stuck inside your computer as a result of swelling, do not try to release it as puncturing, bending,
or crushing a lithium-ion battery can be dangerous. In such an instance, contact Dell technical support for
assistance. See https://www.dell.com/support.

+ Always purchase genuine batteries from https://www.dell.com or authorized Dell partners and resellers.

Removing the battery

1. Follow the procedure in Before working inside your computer.
2. Remove the base cover.

The following image indicates the location of the battery and provides a visual representation of the removal procedure.

Disconnect the battery cable from the system board.

Remove the four screws (M2x2) that secure the battery to the palm-rest and keyboard assembly.
Remove the screw (M1.6x4) that secures the battery to the system board and palm-rest and keyboard assembly.

N

Lift the battery off the palm-rest and keyboard assembly.

Installing the battery

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of the battery and provides a visual representation of the installation procedure.

18 Removing and installing components


https://www.dell.com/support
https://www.dell.com

1. Connect the battery cable to the system board.

2. Replace the four screws (M2x2) that secure the battery to the palm-rest and keyboard assembly.

3. Replace the screw (M1.6x4) that secures the battery to the system board and palm-rest and keyboard assembly.
1. Install the base cover.

2. Follow the procedure in After working inside your computer.

Coin-cell battery

Removing the coin-cell battery

1. Follow the procedure in Before working inside your computer.
Removing the coin-cell battery resets the BIOS setup program’s settings to default. It is recommended
that you note the BIOS setup program’s settings before removing the coin-cell battery.
2. Remove the base cover.
3. Remove the battery.

The following image indicates the location of the coin-cell battery and provides a visual representation of the removal procedure.

Removing and installing components

19



WIIIIIIIIIIII

LT

1. Disconnect the coin-cell battery cable from the system board.

2. Remove the coin-cell battery cable from the routing guide.
3. Peel the coin-cell battery off the palm-rest and keyboard assembly.

Installing the coin-cell battery

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of the coin-cell battery and provides a visual representation of the installation procedure.

WIIIIIIIIIIII

L

1. Adhere the coin-cell battery to the slot on the palm-rest and keyboard assembly.
2. Route the coin-cell battery cable through the routing guide.

3. Connect the coin-cell battery cable to the system board.

1. Install the battery.

2. |Install the base cover.

3. Follow the procedure in After working inside your computer.

20 Removing and installing components



Solid-state drive

Removing the M.2 2280 solid-state drive

1. Follow the procedure in Before working inside your computer.
2. Remove the base cover.
3. Remove the battery.

The following image indicates the location of the solid-state drive and provides a visual representation of the removal procedure.

Optane™ Memory H10 with Solid State Storage. 2
- FW: 70017050 SN: BITEB46201055128 £
<INTEL 51268 Model(}t): HBRPEKNX0202A MBS
5 SA K35121-200 =4
Bl RATED DC 33V (M) 25A (W) 320B Optane™/5120B NAND  yence.mamme”
Bl Engineering Sample ES1 WO: 17615200  Made inChina M280mm 30 1o

PUASIZ  _BATTI EC4308,
PRy

g FE g a3

o |

PL45OL

1. Remove the screw (M2x2.5) that secures the solid-state drive to the system board.
2. Slide and remove the solid-state drive off the solid-state drive slot on the system board.

Installing the M.2 2280 solid-state drive

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of the solid-state drive and provides a visual representation of the installation procedure.

Removing and installing components 21



2tane ™ Memory H10 with Solid State Storage
FW: 70017050 SN BITEZ46201055128.

3208 Optane™/S1268 NAND e "Se ™
Al cngineering Sample ES1 WO: 17615200 Mase in Chins w2 00mm buy 10

PUSHIZ EC4308,
¥ -

) P 2

o |

PL4SOL

1. Align the notch on the solid-state drive with the tab on the solid-state drive slot and slide the solid-state drive into the solid-state drive
slot on the system board.

2. Replace the screw (M2x2.5) that secures the solid-state drive to the system board.

1. Install the battery.
2. Install the base cover.
3. Follow the procedure in After working inside your computer.

Removing the M.2 2230 solid-state drive

1. Follow the procedure in Before working inside your computer.
2. Remove the base cover.
3. Remove the battery.

The following image indicates the location of the solid-state drive and provides a visual representation of the removal procedure.

22 Removing and installing components



F6501:1.1A/6V
X2401:32.768KHZ

WL A 8 A

1. Remove the screw (M2x2.5) that secures the solid-state drive bracket to the system board.

2. Slide and remove the solid-state drive bracket off the solid-state drive on the system board.
3. Slide and remove the solid-state drive off the solid-state drive slot on the system board.

Installing the M.2 2230 solid-state drive

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of the solid-state drive and provides a visual representation of the installation procedure.

3 WASP13-MB
2 l1a760°sc
3.0GW14.00SC

DE IN CHINA

F6501:1.1A/6V
X2401:32.768KHZ

il

1. Align the notch on the solid-state drive with the tab on the solid-state drive slot and slide the solid-state drive into the solid-state drive
slot on the system board.

2. Slide the solid-state bracket on to the solid-state drive on the system board.

Removing and installing components 23



Replace the screw (M2x2.5) that secures the solid-state drive to the system board.

Install the battery.
Install the base cover.
Follow the procedure in After working inside your computer.

NI ot

Heat sink

Removing the heat sink

1. Follow the procedure in Before working inside your computer.
2. Remove the base cover.
3. Remove the battery.

The following image indicates the location of the heat sink and provides a visual representation of the removal procedure.

1. Peel the tape that secures the heat sink to the system board.
2. In the reverse sequential order (7>6>5>4>3>2>1), loosen the seven captive screws that secure the heat sink to the system board.
3. Lift the heat sink off the system board.

Installing the heat sink

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of the base cover and provides a visual representation of the installation procedure.

24 Removing and installing components



1. Align and place the screw holes on the heat sink with the screw holes on the system board.
2. In sequential order (as indicated on the heat sink), tighten the seven captive screws that secure the heat sink to the system board.
3. Adhere the tape that secures the heat sink to the system board.

N

Install the battery.
Install the base cover.
3. Follow the procedure in After working inside your computer.

N

Fan

Removing the fan

1. Follow the procedure in Before working inside your computer.
2. Remove the base cover.
3. Remove the battery.

The following image indicates the location of fan and provides a visual representation of the removal procedure.

Removing and installing components 25



1. Disconnect the I/0-board cable from the system board and |/0 board.

@ | NOTE: This step is only applicable for computers shipped with a WWAN configuration.

2. Remove the two (M2x3) screws that secure the fan to the system board.
3. Lift the fan slightly off the palm-rest and keyboard assembly.
4. Disconnect the fan cable from the system board and completely lift the fan off the palm-rest and keyboard assembly.

Installing the fan

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of fan and provides a visual representation of the installation procedure.

26 Removing and installing components



Connect the fan cable to the system board.
Align the screw holes on the fan with the screw holes on the palm-rest and keyboard assembly.

1
2
3. Replace the two (M2x3) screws that secure the fan to the palm-rest and keyboard assembly.
4, Connect the I/O-board cable to the system board and /0 board.

(D | NOTE: This step is only applicable for computers shipped with a WWAN configuration.

1. Install the battery.
2. Install the base cover.
3. Follow the procedure in After working inside your computer.

Speakers

Removing the speakers

1. Follow the procedure in Before working inside your computer.
2. Remove the base cover.
3. Remove the battery.

The following image indicates the location of speakers and provides a visual representation of the removal procedure.

Removing and installing components

27



Open the latch and disconnect the touchpad cable from the system board.
Disconnect the speaker cable from the system board.
Peel the tapes that secure the speaker cable to the palm-rest and keyboard assembly.

N N

Note the routing of the speaker cable and remove the speaker cable from the routing guides on the palm-rest and keyboard assembly.
@ | NOTE: Note the position of the rubber grommets before lifting the speakers.

5. Lift the speakers, along with the cable, off the palm-rest and keyboard assembly.

Installing the speakers

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of speakers and provides a visual representation of the installation procedure.

28 Removing and installing components



Using the alignment posts and rubber grommets, place the speakers in the slots on the palm-rest and keyboard assembly.
Route the speaker cable through the routing guides on the palm-rest and keyboard assembly.

Adhere the tapes that secure the speaker cable to the palm-rest and keyboard assembly.

Connect the speaker cable to the system board.

S NSRS

Connect the touchpad cable to the system board and close the latch to secure the cable.

N

Install the battery.
Install the base cover.
3. Follow the procedure in After working inside your computer.

WLAN card
Removing the WLAN card

1. Follow the procedure in Before working inside your computer.
2. Remove the base cover.
3. Remove the battery.

N

The following image indicates the location of WLAN card and provides a visual representation of the removal procedure.

Removing and installing components

29



1. Remove the screw (M2x2.5) that secures the WLAN-card bracket to the WLAN card and lift the WLAN-card bracket off the WLAN
card.

2. Disconnect the antenna cables from the WLAN card.
3. Slide and remove the WLAN card from the WLAN-card slot.

Installing the WLAN card

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of WLAN card and provides a visual representation of the installation procedure.

1. Connect the antenna cables to the WLAN card.
2. Align the notch on the WLAN card with the tab on the WLAN card slot and insert the WLAN card at an angle into the WLAN card slot.

30 Removing and installing components



3. Align and place the WLAN card bracket on the WLAN card.

4. Replace the screw (M2x2.5) to secure the WLAN card bracket to the WLAN card.
1. Install the battery.

2. Install the base cover.

3. Follow the procedure in After working inside your computer.

WWAN card
Removing the WWAN card

@ | NOTE: This procedure is only applicable for computers shipped with a WWAN configuration.

1. Follow the procedure in Before working inside your computer.
2. Remove the base cover.
3. Remove the battery.

The following image indicates the location of WWAN card and provides a visual representation of the removal procedure.

L
£

Remove the screw (M2x2.5) that secures the WWAN card bracket to the WWAN card.
Note the alignment of the WWAN-card bracket before lifting it off the WWAN card.
Disconnect the antenna cables from the WWAN card.

Slide and remove the WWAN card from the WWAN card slot.

Installing the WWAN card

@ | NOTE: This procedure is only applicable for computers shipped with a WWAN configuration.

NN

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of WWAN card and provides a visual representation of the installation procedure.

Removing and installing components

31



1.

Align the notch on the WWAN card with the tab on the WWAN-card slot and insert the WWAN card at an angle into the WWAN-card
slot.

2. Connect the antenna cables to the WWAN card and align the WWAN-card bracket on the WWAN card.
3. Replace the screw (M2x2.5) that secures the WWAN bracket to the WWAN card.

1. Install the battery.

2. Install the base cover.

3. Follow the procedure in After working inside your computer.

Touchpad

Removing the touchpad

1. Follow the procedure in Before working inside your computer.
2. Remove the base cover.
3. Remove the battery.

The following image indicates the location of touchpad and provides a visual representation of the removal procedure.

32 Removing and installing components



1.
2
3
4.
5
6

Peel the tapes that secure the touchpad to the palm-rest and keyboard assembly.

Open the latch and disconnect the touchpad cable from the system board.

Remove the three (M1.6x2) screws that secure the touchpad bracket to the palm-rest and keyboard assembly.
Lift the touchpad bracket off the palm-rest and keyboard assembly.

Remove the two (M1.6x2) screws that secure the touchpad to the palm-rest and keyboard assembly.

Lift the touchpad, along with the cable, off the palm-rest and keyboard assembly.

Installing the touchpad

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of touchpad and provides a visual representation of the installation procedure.

Removing and installing components

33



Align and place the touchpad into the slot on the palm-rest and keyboard assembly.

Replace the two (M1.6x2) screws that secure the touchpad to the palm-rest and keyboard assembly.

Align and place the touchpad bracket into the slot on the palm-rest and keyboard assembly.

Replace the three (M1.6x2) screws that secure the touchpad bracket to the palm-rest and keyboard assembly.
Slide the touchpad cable into its connector on the system board and close the latch to secure the cable.

SIS NSNS

Adhere the tape that secures the touchpad to the palm-rest and keyboard assembly.

Install the battery.
Install the base cover.
3. Follow the procedure in After working inside your computer.

N~

Power-adapter port

Removing the power-adapter port

1. Follow the procedure in Before working inside your computer.
2. Remove the base cover.
3. Remove the battery.

The following image indicates the location of power-adapter port and provides a visual representation of the removal procedure.

34 Removing and installing components



1x 1x 1x

M2x4 M2.5x3.5 M2x3

ARAAZ
R

I
1

Remove the screw (M2.5x3.5) that secures the display-cable bracket to the system board.

Remove the screw (M2x4) that secures the right display hinge to the system board.

Open the display hinges at an angle of 90 degrees.

Disconnect the power-adapter port cable from the system board.

Remove the screw (M2x3) that secures the power-adapter port to the palm-rest and keyboard assembly.
Lift the power-adapter port, along with its cable, off the palm-rest and keyboard assembly.

SIS NSNS

Installing the power-adapter port

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of power-adapter port and provides a visual representation of the installation procedure.

Removing and installing components 35



1x 1x 1x

M2x4 M2.5x3.5 M2x3

PLaBOL
SiEs
we

Connect the power-adapter port cable to the system board.

Replace the screw (M2x3) that secures the power-adapter port to the palm-rest and keyboard assembly.
Align and place the display-cable bracket on the system board.

Replace the screw (M2.5x3.5) that secure the display-cable bracket to the system board.

Using the alignment posts, close the display hinges.

SIS NSNS

Replace the screw (M2x4) that secure the right display hinge to the system board.

—

Install the battery.
Install the base cover.
3. Follow the procedure in After working inside your computer.

N

Display assembly

Removing the display assembly

1. Follow the procedure in Before working inside your computer.
2. Remove the base cover.
3. Remove the battery.

The following image indicates the location of display assembly and provides a visual representation of the removal procedure.

36 Removing and installing components



3x 1x
M2.5x3.5 M2x4

an e

Removing and installing components 37



Remove the screw (M2.5x3.5) that secures the display-cable bracket to the system board.

Lift the display-cable bracket off the system board.

Using the pull tab, disconnect the display cable from the system board.

Remove the two screws (M2.5x3.5) that secure the left display hinge to the 1/0 board and palm-rest and keyboard assembly.
Remove the screw (M2x4) that secures the right display hinge to the system board.

Open the display hinges at an angle of 90 degrees.

NGO N N

Remove the palm-rest and keyboard assembly off the display assembly.

38 Removing and installing components



Installing the display assembly

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of display assembly and provides a visual representation of the installation procedure.

Removing and installing components 39



3x 1x
M2.5x3.5 M2x4

Align and place the palm-rest and keyboard assembly on the display assembly.

Using the alignment posts, close the display hinges.

Replace the two screws (M2.5x3.5) that secures the left display hinge to the I/0 board and palm-rest and keyboard assembly.
Replace the screw (M2x4) that secures the right display hinge to the system board.

Connect the display cable on to the connector on the system board

Align and place the display-cable bracket on the display cable.

1.
2,
3.
4.
5.
6.
7.

Replace the screw (M2x4) that secures the display-cable bracket to the system board.

N

Install the battery.
Install the base cover.
3. Follow the procedure in After working inside your computer.

170 board
Removing the 170 board

Follow the procedure in Before working inside your computer.
Remove the base cover.

Remove the battery.

Remove the fan.

N

Ao =

40 Removing and installing components



The following image indicates the location of I/0 board and provides a visual representation of the removal procedure.

® ®

2x 1x
M2.5x3.5 M2x3

EC406 £0403

Remove the two screws (M2.5x3.5) that secure the left display hinge to the I/0 board and palm-rest and keyboard assembly.
Open the display hinges at an angle of 90 degrees.

Peel the tape that secures the I/0O-board cable to the /0 board.

Open the latch and disconnect the I/O-board cable from the 1/0 board.

Remove the screw (M2x3) that secures the |/0 board to the palm-rest and keyboard assembly.

1.
2.
3.
4.
5.
6.

Lift the I/0 board off the palm-rest and keyboard assembly.

Installing the 170 board

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of I/0 board and provides a visual representation of the installation procedure.

Removing and installing components

q1



® ®

2x 1x
M2.5x3.5 M2x3

Align and place the I/0 board on the palm-rest and keyboard assembly.

Replace the screw (M2x3) that secures the I/0 board to the palm-rest and keyboard assembly.
Connect the I/0O-board cable to the I/0 board and close the latch to secure the cable.

Adhere the tape that secures the I/0O board to the I/0 board.

Using the alignment posts, close the display hinges.

1.
2,
3.
4.
5.
6.

Replace the two screws (M2.5x3.5) that secure the left display hinge to the I/0 board and palm-rest and keyboard assembly.

Install the fan.

Install the battery.

Install the base cover.

Follow the procedure in After working inside your computer.

E N

Power-button board

Removing the power-button board

Follow the procedure in Before working inside your computer.
Remove the base cover.

Remove the battery.

Remove the WLAN card.

Ao e

42 Removing and installing components



5. Remove the fan.
6. Remove the |/0 board.

The following image indicates the location of power button and provides a visual representation of the removal procedure.

1. Remove the screw (M1.6x2) that secures the power-button bracket to the palm-rest and keyboard assembly.

2. Remove the screw (M1.6x2) that secures the power-button board to the palm-rest and keyboard assembly and lift the power-button
board off the palm-rest and keyboard assembly.

Installing the power-button board

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of power-button board and provides a visual representation of the installation procedure.

Removing and installing components 43



FNE NN

3 IF NSV EES

Align the screw hole on the power-button board with the screw hole on the palm-rest and keyboard assembly.
Replace the screw (M1.6x2) that secures the power-button board to the palm-rest and keyboard assembly.
Align the screw hole on the power-button bracket with the screw hole on the palm-rest and keyboard assembly.
Replace the screw (M1.6x2) that secures the power-button bracket to the palm-rest and keyboard assembly.
Install the |/0 board.

Install the fan.

Install the WLAN card.

Install the battery.

Install the base cover.

Follow the procedure in After working inside your computer.

Power button with fingerprint reader

Removing the power button with fingerprint reader

@ | NOTE: This procedure is only applicable for computers shipped with a fingerprint reader.

3 IF NSRS

Follow the procedure in Before working inside your computer.
Remove the base cover.

Remove the battery.

Remove the WLAN card.

Remove the fan.

Remove the /0 board.

The following image indicates the location of power button with fingerprint reader and provides a visual representation of the removal
procedure.

1.
2.
3.
4.

44

Remove the screw (M1.6x2) that secures the power-button bracket to the palm-rest and keyboard assembly.

Remove the screw (M1.6x2) that secures the power button with fingerprint reader to the palm-rest and keyboard assembly.
Open the latch and disconnect the fingerprint-reader cable from the fingerprint-reader board.

Lift the power button with fingerprint-reader, along with the power-button cable, off the palm-rest and keyboard assembly.

Removing and installing components



Installing the power button with fingerprint reader

@ | NOTE: This procedure is only applicable for computers shipped with a fingerprint reader.

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of power button with fingerprint reader and provides a visual representation of the installation
procedure.

1. Align and place the power button with fingerprint reader on the palm-rest and keyboard assembly.

2. Replace the screw (M1.6x2) that secure the power button with fingerprint reader to the palm-rest and keyboard assembly.
3. Connect the fingerprint-reader cable to the fingerprint-reader board and close the latch to secure the cable.
4. Align and place the power-button bracket on the palm-rest and keyboard assembly.

5. Replace the screw (M1.6x2) that secure the power-button bracket to the palm-rest and keyboard assembly.
1. Install the I/0 board.

2. Install the fan.

8. Install the WLAN card.

4. Install the battery.

B. Install the base cover.

6. Follow the procedure in After working inside your computer.

System board

Removing the system board

Follow the procedure in Before working inside your computer.

Remove the base cover.

Remove the battery.

Remove the M.2 2280 solid-state drive or M,2 2230 solid-state drive, whichever applicable.
Remove the WLAN card.

Remove the fan.

Remove the heat sink.

NoO oS OoN S

The following image indicates the location of system board and provides a visual representation of the removal procedure.

Removing and installing components

45



© O NOOA NN 2

- o
DN N DN — O

LA i

2X 1x
M2x4 M2.5x3.5

Remove the screw (M2x4) screw that secures the right display hinge to the system board.

Remove the screw (M2x4) that secures the display-cable bracket to the system board.

Remove the screw (M2.5x3.5) screw that secures the USB Type-C port bracket to the system board.
Peel the tape that secures the I/0O-board cable to the system board.

Open the latch and disconnect the I/O-board cable from the system board.

Disconnect the speaker cable from the system board.

Open the latch and disconnect the fingerprint-reader cable from the system board.

Open the latch and disconnect the touchpad cable from the system board.

Open the latch and disconnect the keyboard cable from the system board.

. Open the latch and disconnect the keyboard backlit cable from the system board.
. Disconnect the coin-cell battery cable from the system board.

. Disconnect the power-adapter port cable from the system board.

. Using the pull tab, disconnect the display cable from the system board.

. Gently release the ports on the system board from the slots on the palm-rest and keyboard assembly and lift the system board off the

palm-rest and keyboard assembly.

Installing the system board

If you are replacing a component, remove the existing component before performing the installation procedure.

46

Removing and installing components



The following image indicates the location of system board and provides a visual representation of the installation procedure.

LA i

2X 1x
M2x4 M2.5x3.5

1. Slide the ports on the system board into the slots on the palm-rest and keyboard assembly and align the screw holes on the system
board with the screw holes on the palm-rest and keyboard assembly.

2. Connect the display cable on to the connector on the system board6

3. Connect the power-adapter port cable to the system board.

4. Connect the coin-cell battery cable to the system board.

5. Connect the keyboard backlit cable to the system board and close the latch to secure the cable.
6. Connect the keyboard cable to the system board and close the latch to secure the cable.

7. Connect the touchpad cable to the system board and close the latch to secure the cable.

8. Connect the fingerprint-reader cable to the system board and close the latch to secure the cable.
9. Connect the speaker cable to the system board.

10. Connect the I/0-board cable to the system board and close the latch to secure the cable.

1. Adhere the tape that secures the I/0O-board cable to the system board.

12. Replace the screw (M2x4) screw that secures the right display hinge to the system board.

13. Replace the screw (M2x4) that secures the display-cable bracket to the system board.

14. Replace the screw (M2.5x3.5) screw that secures the USB Type-C port bracket to the system board.
1. Install the power-adapter port.

2. Install the display assembly.

3. Install the heat sink.

Removing and installing components



Install the fan.

Install the WLAN card.

Install the M.2 2280 solid-state drive or M.2 2230 solid-state drive, whichever applicable.
Install the battery.

Install the base cover.

Follow the procedure in After working inside your computer.

©©N® oA

Display bezel

Removing the display bezel

@ | NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

Follow the procedure in Before working inside your computer.
Remove the base cover.

Remove the battery.

Remove the WLAN card.

Remove the display assembly.

S FNEINIES

The following image indicates the location of display bezel and provides a visual representation of the removal procedure.

)

1. Carefully pry the edges of the display bezel off the display back-cover and antenna assembly.
2. Remove the display bezel off the display back-cover and antenna assembly.

Installing the display bezel

@ | NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of display bezel and provides a visual representation of the installation procedure.

48 Removing and installing components



Align the display bezel with the display back-cover and antenna assembly, and gently snap the display bezel into place.
Install the display assembly.

Install the WLAN card.

Install the battery.

Install the base cover.

Follow the procedure in After working inside your computer.

S IF NSRS

Display panel

Removing the display panel

@ | NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

Follow the procedure in Before working inside your computer.
Remove the base cover.

Remove the battery.

Remove the WLAN card.

Remove the display assembly.

Remove the display bezel.

S PN ST SR

The following image indicates the location of display panel and provides a visual representation of the removal procedure.

Removing and installing components

49



50 Removing and installing components



G610z
1000°A0MD0 09
an A34 dNOZdNO
1. Using a plastic scribe, slide out the pull tab of the SR tape from both sides of the display panel.
2. Pull out a small section of the SR tape.

3. Roll the SR tape around the plastic scribe.

®

4. Lift the display panel off the display back-cover.

NOTE: To avoid severing/breaking the SR tape, pull out only a small section of the SR tape and then roll the SR tape
around the scribe.

B. Peel the tape that secures the display cable to the display back-cover.
6. Open the latch and disconnect the display cable from the display back-cover.

Installing the display panel

@ | NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of display panel and provides a visual representation of the installation procedure.

Removing and installing components 51



52 Removing and installing components



© O NOOA NN 2

oo A oN

Peel off the transparent protective fims from the SR tapes.

Align and adhere both the SR tapes to the plastic edge of the display back-cover.
Peel off the blue protective fims from the SR tapes.

Starting from the top, align and place the display panel on the display back-cover.
Remove the release paper from the pressure film.

Adhere the pressure film on the display panel.

Using the flat end of the plastic scribe or handle of the screwdriver, press and roll over the pressure films until they turn pink.
Peel off the pressure film from the display panel.

Place the display bezel on the display back-cover and snap it into place.

Install the display bezel.

Install the display assembly.

Install the WLAN card.

Install the battery.

Install the base cover.

Follow the procedure in After working inside your computer.

Display hinges

Removing the display hinges

@ | NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

S IFNISTECIES

Follow the procedure in Before working inside your computer.
Remove the base cover.

Remove the battery.

Remove the WLAN card.

Remove the display assembly.

Removing and installing components

53



6. Remove the display bezel.

The following image indicates the location of display hinges and provides a visual representation of the removal procedure.

(e
(@)
\ %/

N
M2.5x2.5 M2x2

4x 2x

1. Remove the four (M2.5x2.5) screws that secure the display hinges to the display back-cover.
2. Remove the two (M2x2) screws that secure the display hinges to the display back-cover.
3. Lift the display hinges off the display back-cover.

Installing the display hinges
@ | NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of display hinges and provides a visual representation of the installation procedure.

54 Removing and installing components



4x 2x
M2.5x2.5 M2x2

Align the screw holes on the hinges with the screw holes on the display back-cover.

Replace the two (M2x2) screws that secure the display hinges to the display back-cover.

SRS

Replace the four (M2.5x2.5) screws to secure the display hinges to the display back-cover.

Install the display bezel.

Install the display assembly.

Install the WLAN card.

Install the battery.

Install the base cover.

Follow the procedure in After working inside your computer.

oo A oN

Camera

Removing the camera

@ | NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

Follow the procedure in Before working inside your computer.
Remove the base cover.

Remove the battery.

Remove the WLAN card.

Remove the display assembly.

Remove the display bezel.

Remove the display panel.

N oSNNS

The following image indicates the location of camera and provides a visual representation of the removal procedure.

Removing and installing components

55



Peel the tape that secures the camera to the display back-cover
Using a plastic scribe, pry the camera from the alignment post on the display back-cover.
Turn over the camera and disconnect the camera cable off the camera.

N N

Peel the tape off the camera and lift the camera off the display back-cover.

Installing the camera

@ | NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of camera and provides a visual representation of the installation procedure.

56 Removing and installing components



Adhere the camera to the display cable (tape) and connect the camera cable to the camera and turn it over.
Using the alignment post, turn the camera over and adhere to the display back-cover.
Adhere the tape that secures the camera to the display back-cover.

Install the display panel.

Install the display bezel.

Install the display assembly.

Install the WLAN card.

Install the battery.

Install the base cover.

Follow the procedure in After working inside your computer.

NOODNKNS NS

Display back-cover

Removing the display back-cover

@ | NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

Follow the procedure in Before working inside your computer.
Remove the base cover.

Remove the battery.

Remove the WLAN card.

Remove the display assembly.

Remove the display bezel.

Remove the display hinges.

Remove thedisplay panel.

. Remove the display cable.

10. Remove the camera.

©C®NDOA NN

The following image indicates the display back-cover and provides a visual representation of the removal procedure.

After performing all the prerequisites, we are left with the display back-cover.

@ NOTE: Antenna cables are a part of the palm-rest and keyboard assembly for computers shipping with WLAN
configurations.

Installing the display back-cover

(D NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the display back-cover and provides a visual representation of the installation procedure.

Removing and installing components



Place the display back-cover on a flat surface.

@ NOTE: Antenna cables are a part of the palm-rest and keyboard assembly for computers shipping with WLAN
configurations.

Install the camera.

Install the display cable.

Install the display panel.

Install the display hinges.

Install the display bezel.

Install the display assembly.

Install the WLAN card.

Install the battery.

. Install the base cover.

10. Follow the procedure in After working inside your computer.

©OENDOA NN

Display cable

Removing the display cable

@ | NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

Follow the procedure in Before working inside your computer.
Remove the base cover.

Remove the battery.

Remove the display assembly.

Remove the display panel.

Remove the display bezel.

3 PNV EES

The following image indicates the location of display cable and provides a visual representation of the removal procedure.

58 Removing and installing components



1. Peel off the tape securing the display cable to the back-cover.
2. Peel the display cable off the display back-cover.

Installing the display cable

@ | NOTE: This procedure is not applicable to computers shipped with a WWAN configuration.

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the location of display cable and provides a visual representation of the installation procedure.

Removing and installing components 59



Adhere the tape securing the display cable to the back-cover.

N~

Adhere the display cable to the display back-cover.

Install the display bezel.

Install the display panel.

Install the display assembly.

Install the battery.

Install the base cover.

Follow the procedure in After working inside your computer.

IS P NS SRE

Palm-rest and keyboard assembly

Removing the palm-rest and keyboard assembly

Follow the procedure in Before working inside your computer.

Remove the base cover.

Remove the battery.

Remove the WLAN card.

Remove the speakers.

Remove the system board.

Remove the display assembly.

Remove the power button with fingerprint reader or power-button board, whichever applicable.
. Remove the power-adapter port.

10. Remove the touchpad.

©ENDO NN

The following image indicates the palm-rest and keyboard assembly and provides a visual representation of the removal procedure.

60 Removing and installing components



After performing the steps in the pre-requisites, we are left with the palm-rest and keyboard assembly.

@ | NOTE: Antenna cables are a part of the display back-cover for computers shipping with WWAN configuration.

@ | NOTE: System board can be removed with heatsink attached.

Installing the palm-rest and keyboard assembly

If you are replacing a component, remove the existing component before performing the installation procedure.

The following image indicates the palm-rest and keyboard assembly and provides a visual representation of the installation procedure.

Place the palm-rest and keyboard assembly on a flat surface.
(D | NOTE: Antenna cables are a part of the display back-cover for computers shipping with WWAN configuration.

Install the touchpad.

Install the power-adapter port.

Install the power button with fingerprint reader or power-button board, whichever applicable.
Install the display assembly.

Do =

Removing and installing components 61



©®NO

10.

62

Install the system board.

Install the speakers.

Install the WLAN card.

Install the battery.

Install the base cover.

Follow the procedure in After working inside your computer.

Removing and installing components



Troubleshooting

Enhanced Pre-Boot System Assessment (ePSA)
diagnostics

The ePSA diagnostics (also known as system diagnostics) performs a complete check of your hardware. The ePSA is embedded with the
BIOS and is launched by the BIOS internally. The embedded system diagnostics provides a set of options for particular devices or device
groups allowing you to:

Run tests automatically or in an interactive mode

Repeat tests

Display or save test results

Run thorough tests to introduce additional test options to provide extra information about the failed device(s)

View status messages that inform you if tests are completed successfully

View error messages that inform you of problems encountered during testing

® NOTE: Some tests for specific devices require user interaction. Always ensure that you are present at the computer
terminal when the diagnostic tests are performed.

For more information, see Dell EPSA Diagnostic 3.0.

Running the ePSA diagnostics

Turn on your computer.
As the computer boots, press the F12 key as the Dell logo appears.
On the boot menu screen, select the Diagnostics option.

N N

Click the arrow at the bottom left corner.
Diagnostics front page is displayed.

5. Click the arrow in the lower-right corner to go to the page listing.
The items detected are listed.

6. Torun a diagnostic test on a specific device, press Esc and click Yes to stop the diagnostic test.
7. Select the device from the left pane and click Run Tests.

If there are any issues, error codes are displayed.
Note the error code and validation number and contact Dell.

System diagnostic lights

Battery-status light

Indicates the power and battery-charge status.

Solid white — Power adapter is connected and the battery has more than 5 percent charge.
Amber — Computer is running on battery and the battery has less than 5 percent charge.
Off

Power adapter is connected and the battery is fully charged.
Computer is running on battery and the battery has more than 5 percent charge.
Computer is in sleep state, hibernation, or turned off.

The power and battery-status light blinks amber along with beep codes indicating failures.

For example, the power and battery-status light blinks amber two times followed by a pause, and then blinks white three times followed by
a pause. This 2,3 pattern continues until the computer is turned off indicating no memory or RAM is detected.

Troubleshooting 63


HTTPS://PRM.DELL.COM/CONTENT/CNINV000000000038196/GUID-E88C830F-244A-4A25-8E91-363D89769037.HTML

The following table shows different power and battery-status light patterns and associated problems.

Table 4. LED codes

Diagnostic light codes Problem description

2,1 Processor failure

2,2 System board: BIOS or ROM (Read-Only Memory) failure
2,3 No memory or RAM (Random-Access Memory) detected
2,4 Memory or RAM (Random-Access Memory) failure

2,5 Invalid memory installed

2,6 System-board or chipset error

2,7 Display failure

3,1 Coin-cell battery failure

3,2 PClI, video card/chip failure

3,3 Recovery image not found

3,4 Recovery image found but invalid

3,5 Power-rail failure

3,6 System BIOS Flash incomplete

3,7 Management Engine (ME) error

Camera status light: Indicates whether the camera is in use.

Solid white — Camera is in use.
Off — Camera is not in use.

Caps Lock status light: Indicates whether Caps Lock is enabled or disabled.

Solid white — Caps Lock enabled.
Off — Caps Lock disabled.

Flashing BIOS (USB key)

Follow the procedure from step 1to step 7 in "Flashing the BIOS" to download the latest BIOS setup program file.

Create a bootable USB drive. For more information see the knowledge base article SLN143196 at www.dell.com/support.
Copy the BIOS setup program file to the bootable USB drive.

Connect the bootable USB drive to the computer that needs the BIOS update.

Restart the computer and press F12 when the Dell logo is displayed on the screen.

Boot to the USB drive from the One Time Boot Menu.

Type the BIOS setup program filename and press Enter.

O N @O NN S

The BIOS Update Utility appears. Follow the instructions on the screen to complete the BIOS update.

Flashing the BIOS

You may need to flash (update) the BIOS when an update is available or when you replace the system board.
Follow these steps to flash the BIOS:

1. Turn on your computer.
2. Go to www.dell.com/support.
3. Click Product support, enter the Service Tag of your computer, and then click Submit.

(D | NOTE: If you do not have the Service Tag, use the auto-detect feature or manually browse for your computer model.

4. Click Drivers & downloads > Find it myself.
5. Select the operating system installed on your computer.

64 Troubleshooting


https://www.dell.com/support/article/sln143196/
https://www.dell.com/support
https://www.dell.com/support

Scroll down the page and expand BIOS.
Click Download to download the latest version of the BIOS for your computer.
After the download is complete, navigate to the folder where you saved the BIOS update file.

© © N o

Double-click the BIOS update file icon and follow the instructions on the screen.

Backup media and recovery options

Dell proposes multiple options for recovering Windows operating system on your Dell PC. For more information. see Dell Windows Backup
Media and Recovery Options.

WiFi power cycle

If your computer is unable to access the internet due to WiFi connectivity issues a WiFi power cycle procedure may be performed. The
following procedure provides the instructions on how to conduct a WiFi power cycle:

(D | NOTE: Some ISPs (Internet Service Providers) provide a modem/router combo device.

Turn off your computer.
Turn off the modem.

Turn off the wireless router.
Wait for 30 seconds.

Turn on the wireless router.
Turn on the modem.

NOoO TN NS

Turn on your computer.

Flea power release

Flea power is the residual static electricity that remains on the computer even after it has been powered off and the battery has been
removed. The following procedure provides the instructions on how to conduct flea power release:

Turn off your computer.

Disconnect the power adapter from your computer.

Press and hold the power button for 15 seconds to drain the flea power.
Connect the power adapter to your computer.

S ISR SR

Turn on your computer.

Troubleshooting 65


https://www.dell.com/support/contents/us/en/04/article/Product-Support/Self-support-Knowledgebase/software-and-downloads/dell-backup-solutions/Media-backup
https://www.dell.com/support/contents/us/en/04/article/Product-Support/Self-support-Knowledgebase/software-and-downloads/dell-backup-solutions/Media-backup

Getting help

Topics:

Contacting Dell

Contacting Dell
o)

NOTE: If you do not have an active Internet connection, you can find contact information on your purchase invoice,
packing slip, bill, or Dell product catalog.

Dell provides several online and telephone-based support and service options. Availability varies by country and product, and some services
may not be available in your area. To contact Dell for sales, technical support, or customer service issues:

Go to Dell.com/support.
Select your support category.
Verify your country or region in the Choose a Country/Region drop-down list at the bottom of the page.

N N

Select the appropriate service or support link based on your need.

66 Getting help



	Dell Latitude 3301 Service Manual 
	Working on your computer
	Safety instructions
	Turning off your computer — Windows 10
	Before working inside your computer
	After working inside your computer

	Technology and components
	LPDDR3
	HDMI 1.4- HDMI 2.0
	USB features
	Intel Optane memory
	Enabling Intel Optane memory
	Disabling Intel Optane memory


	Major components of your system
	Removing and installing components
	Recommended tools
	Screw list
	Disassembly and reassembly
	Base cover
	Removing the base cover
	Installing the base cover

	Battery
	Lithium-ion battery precautions
	Removing the battery
	Installing the battery

	Coin-cell battery
	Removing the coin-cell battery
	Installing the coin-cell battery

	Solid-state drive
	Removing the M.2 2280 solid-state drive
	Installing the M.2 2280 solid-state drive
	Removing the M.2 2230 solid-state drive
	Installing the M.2 2230 solid-state drive

	Heat sink
	Removing the heat sink
	Installing the heat sink

	Fan
	Removing the fan
	Installing the fan

	Speakers
	Removing the speakers
	Installing the speakers

	WLAN card
	Removing the WLAN card
	Installing the WLAN card

	WWAN card
	Removing the WWAN card
	Installing the WWAN card

	Touchpad
	Removing the touchpad
	Installing the touchpad

	Power-adapter port
	Removing the power-adapter port
	Installing the power-adapter port

	Display assembly
	Removing the display assembly
	Installing the display assembly

	I/O board
	Removing the I/O board
	Installing the I/O board

	Power-button board
	Removing the power-button board
	Installing the power-button board

	Power button with fingerprint reader
	Removing the power button with fingerprint reader
	Installing the power button with fingerprint reader

	System board
	Removing the system board
	Installing the system board

	Display bezel
	Removing the display bezel
	Installing the display bezel

	Display panel
	Removing the display panel
	Installing the display panel

	Display hinges
	Removing the display hinges
	Installing the display hinges

	Camera
	Removing the camera
	Installing the camera

	Display back-cover
	Removing the display back-cover
	Installing the display back-cover

	Display cable
	Removing the display cable
	Installing the display cable

	Palm-rest and keyboard assembly
	Removing the palm-rest and keyboard assembly
	Installing the palm-rest and keyboard assembly



	Troubleshooting
	Enhanced Pre-Boot System Assessment (ePSA) diagnostics
	Running the ePSA diagnostics

	System diagnostic lights
	Flashing BIOS (USB key)
	Flashing the BIOS
	Backup media and recovery options
	WiFi power cycle
	Flea power release

	Getting help
	Contacting Dell


